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 how a Super GM had blundered.  This week


 from the same event you are asked to find a


 spectacular win which one of the top placed


     players missed.  In Karjakin - Adams

   (Corus Rd 12) Black has attacked White’s


 queen with 1…Rb7 and White replied 2.Qd6    


    winning quickly but can you find a better


    White winning continuation (4/5 moves)?

In Corus A (Wijk aan Zee) the penultimate round finished with six of the 14 players, Magnus Carlsen (Nor), Teimout Radjabov (Aze), Levon Aronian (Arm), Sergey Karjakin (Ukr),  Leinier Dominguez Perez (Cuba) and Sergei Movsesian (Slov), tied on 7/12.  Carlsen started with 10 successive draws before notching two wins. Results of the final round will be given next week.


   Corus C was won convincingly
   by 15 year old Wesley So (Phil) 
   who finished with 9.5/13, a full 
       point ahead of second.  An 
      unusual phenomenon in this 
   group was the paucity of draws 
  with two of the rounds containing 
   no draws and with all of Manuel 
  Leon Hayos’ (Mex) games ending 
          decisively  (=5, -8).








  C-Group winner Wesley So.


 In Corus B front runner Nigel 

 Short (Eng) built up a winning 

  position but short of time first 

 missed a winning combination 

and then a perpetual check in his 

   final game against Fabiano
 
  Caruana handing the Italian 

    1st place with 8.5/13 and 

   relegating Short to equal 2nd.







 Fabiano Caruana against Nigel Short in Rd 13

          Fabiano Caruana – Nigel Short 


       2009 Corus B Wijk aan Zee, Rd 13


               Queens Gambit Catalan

1.d4 

Nf6 

2.c4 

e6 


3.g3 

d5 

4.Nf3 

Be7 


5.Bg2 

0-0 

6.0-0 

dxc4 


7.Qc2 

a6 

8.Qxc4 
b5 


9.Qc2 

Bb7 

10.Bd2 
Bd6 


11.Ng5 
Bxg2 

12.Kxg2 
Qc8 


13.e4 

Qb7 

14.Re1 
Nbd7 


15.Nf3 
e5 

16.Bg5 
exd4 


17.Nxd4 
Rfe8 

18.Nd2 
c5 


19.Nf5 
Bf8 

20.b3 

Re6 


21.f3 

Rae8 

22.Rad1 
Ne5 


23.Bf4 
Nfd7 

24.Qc3 
h5 


25.Ne3 
Nb6 

26.Ndf1 
Ng6 


27.Bg5 
c4! 

28.bxc4 
Qc7 


29.Rc1 
bxc4(a) 
30.Nf5 
Rc8 


31.Nd2 
f6 

32.Be3 
Ne5 


33.Rb1 
Bc5 

34.Bf4 
Rd8 


35.Red1 
g6 

36.Nh4 
Red6 


37.Nxg6(b) 
Bd4 

38.Qa5 
Nxg6 


39.Bxd6 
Rxd6 

40.Qxh5(c) 
Kg7 


41.Nf1 
c3 

42.Rbc1 
Nc4 


43.f4 

Qb7 

44.Qe2 
f5 


45.Re1 
Qc6 

46.Qf3(d) 
Nd2!! 


47.Nxd2 
Nh4+?!(e) 
48.gxh4 
Rg6+ 

49.Kh3 
Qd7(f) 

50.Qh5 
cxd2 


51.exf5 
Rh6!(g) 
52.Qg5+ 
Kf7 


53.Qxh6 
Qxf5+ 

54.Kg3
 
dxc1=Q 


55.Rxc1 
Qd3+ 

56.Kg4 
Qe2+ 


57.Kf5 
Qb5+?(h) 
a) Not now 30.Nxc4? Rc8 31.Nfd2 Rc6. Black’s c pawn is isolated but passed.

b) A faulty combination, missing Black’s Zwischenzug 37…Bd4!

c) Black’s king is exposed and White has a material advantage but Black has the passed c pawn!

d) A natural move but giving Black a chance of a brilliant continuation.

e) Black has 47...cxd2! 48.Rxc6 dxe1=N+! 49.Kf1 Nxf3 50.Rxd6 fxe4 winning.

f) This was Short's big idea, but White has a way out.
g) 51…Rf6 loses to 52.Rg1+.
h) 57...Qd3+ 58.Kg5 Qb5+ 59.Kg4 (59.f5 Be3+) 59...Qe2+ 60.Kf5 Qd3+ with perpetual. The game finished 58.Ke4 Qe2+ 59.Kd5! (59.Kxd4? Qd2+) 59…Qxa2+ 60.Rc4 Bf6 61.Qh7+ Kf8 62.Qe4 Bxh4 63.Ke6 Kg7 64.f5 Bd8 65.f6+ Kf8 66.Qd5 Qe2+ 67.Re4 resigns 
SOLUTION:  2.Qxc6!! (seemingly falling into a simple trap) 2…Rb1+! 3.Rxb1 Bxc6 4.Bd6! wins (if queen moves along back rank 5.Rb8 and if 4…Qh6 5.Rb8+ Kg7 6.Bf8+). White can also win with 4.Rb8+ Be8 5.Bd6.
